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(o
SA BB (SH) - NRAY - B Ol At o %E& HRE2
02 2224 H| 500 500 0
OHE3IAHA KX 22l 500
307 QI2t0| ™ 2,700 2,700 0
04 CIZ2tSH AFALS B X 2,700 2,700 0
OLE2Here TR D& oY A} 2,700
ANSIE2XAIE KR 42,079 40,493 1,586
201 et 500 860 A 360
01 A2t 2| bl 500 860 A 360
OMIZ2XAIE B A2 500
307 2iz2to| A 41,579 39,633 1,946
11T AISIEXAIEEX 41,579 39,633 1,946
OSIHYHN S (ZlHEATAIY) 39,816
- 294 6,350
— = A 3,650
-NdEgoHEII23 27,216
- Meola LG 200,000& * 18 * 12& 2,400
AR =R =R PSSy 100,000& * 1Y = 23| 200
O21Z20Ltd ol A MAHY|
8,8138 = 2021 * 100& 1,763
IIEZENHANESAIE AR oA 16,987 15,112 1,875
301 et ™M= 16,987 15,112 1,875
B A =SRILZAS 16,987 15,112 1,875
ONEZAEANNNESAIE MIAERRI (2L,
WEH,O=|) 8,493,200& * 2 16,987
HEZH IEAY N 13,300 0 13,300
= 3,990
Al 9,310
201 et 9| 13,300 0 13,300
= 3,990
Al 9,310
01 AP 2t 2] H| 13,300 0 13,300
OA&1eIII? ot E XY ¥ = 13,300
o=t 3,990
Al 9,310
AOHOHEE X & IO ol KFEX & A 208,715 0 208,715
Jl 110,358
== 49,179
Al 49,178
307 2Iz2t0| & 208,715 0 208,715
Jl 110,358
= 49,179
Al 49,178
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10 M3 SAANEEHESIGHEX 178,715 0 178,715
OS0OHOHIIcH A S A 2 178,715
J| 89,358
o= 44 679
Al 44 678
11 A EXAIEEX 30,000 0 30,000
OXSOHOHII o XF 2 EKI&AFS 30,000
J| 21,000
& 4,500
Al 4,500
S X 225,550 136,412 89,138
HAE=2X3 2 N 111,370 22,840 88,530
201 et d| 610 80 530
01 AP 22| H| 530 0 530
Od=EXza S6A=s=2 AUWIBIE s8>
== 530
02 =224 H| 80 80 0
OWE=2X3 2 NESRLELS 80
307 giztol A 22,760 22,760 0
11T A EXAIEEX 22,760 22,760 0
OegEXga 2203 29 22,760
401 Al HI L E0HHI 88,000 0 88,000
01 Al H 88,000 0 88,000
OZHAE=EXN3 2 AHoM L JIsELZ2A 88,000
2 &8 LIS A} 96,000 96,000 0
201 Bt 96,000 96,000 0
03 A2 G HI 96,000 96,000 0
OAEOo 2L&ELI= A 96,000
Ao Al3E=E XA 18,180 17,572 608
307 2iz2to| & 18,180 17,572 608
02 QIZ2HA AAIE E X 14,180 13,572 608
OJIF& Holss 2AHUE 1,800
O&dAe H22D| 2,880
OJIdZH0dol Ools . 3483 28 HE &5
AFE H| 1,400
OZAl HEXNEZA HHFUSE S E24 At
A Y| 2,700
O stats st A&20U3 AFgH] 2,700
OUSSA 4TS A= 2,700
11T AISIEXAIEEX 4,000 4,000 0
Oz weet 29 4,000
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IIEEXSA 20,456,751 13,938,684 6,518,067
= 7,058,520
J| 6,433,712
== 2,131,666
Al 4,832,853
AL INE XA 4,417,104 4,046,840 370,264
= 2,398,520
Dl 367,472
= 477,558
Al 1,173,554
ZolAIJISHEH 29 573,460 582,000 N 8,540
J| 286,730
= 86,019
Al 200,711
307 212t0| & 573,460 582,000 N 8,540
J| 286,730
o= 86,019
Al 200,711
10 M SXNAEEHESIGHEX 573,460 582,000 N 8,540
OLMAIIISHE 94| 573,460
J| 286,730
= 86,019
Al 200,711
2AHAIINSHEH 29 (MATHK) 141,920 85,710 56,210
201 LBt Y| 17,520 14,260 3,260
01 AP 22| d| 2,520 1,260 1,260
O=eel N2l L LAAHAAY AR
= 210,000& ~ 12€ 2,520
02 222494l 15,000 13,000 2,000
OHdH 28 532232 1,250,000&  12& 15,000
307 2I2t0| ™ 124,400 71,450 52,950
10 Al SEXNANEEHESIGH EX 124,400 61,450 62,950
OAHLINERNE =2 IJAXNXA 7,000
OUSIINEXNE=2 NFLXXH 8,400
ZoHAIDISHEH XAALEA 2H 104,000
O2AIIIZSHEH =237 5,000
ololsE X& 3,352,000 3,137,000 215,000
= 2,346,400
& 301,680
Al 703,920
307 gizto| & 1,452,000 1,179,000 273,000
= 1,016,400
& 130,680
Al 304,920
05 QIZtRES 1,452,000 1,179,000 273,000
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= W

104,240

52,120
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H
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5,000
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5,000
5,000

5,000
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hn X

Al

171,484
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66,519

101,310
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10 A SAAEHE2EH
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01 A& HI 45,000 0 45,000
Osds8s=0Li=sH 2288 X& 45,000
< 45,000
NFEEAE XA 24,000 24,000 0
307 21201 A 24,000 24,000 0
11T MISRASEX 24,000 24,000 0
ONsadgMd X3 24,000
SMTAXNE 6,319,000 1,690,000 4,629,000
= 4,660,000
< 472,000
Al 1,187,000
E6EAS XN (XA R) 85,000 1,545,000 A 1,460,000
301 LeHBAF 85,000 1,545,000 A 1,460,000
01 Ml28E 06z 85,000 1,545,000 A 1,460,000
OXMOL =MoL S&&EAHS
500,000& = 1309H 65,000
OAITOL Ol& S4H&e43 1,000,0008 = 20H 20,000
Rotd 0lE2d N= 6,234,000 0 6,234,000
= 4,660,000
< 472,000
Al 1,102,000
308 XX EHSOIA 6,234,000 0 6,234,000
= 4,660,000
< 472,000
Al 1,102,000
113/ 2SoHUHSZAEEALS I 6,234,000 0 6,234,000
Oxetg OISA(HI*H) K&
2,000,000& * 3,117 6,234,000
= 4,660,000
< 472,000
Al 1,102,000
N2Z =23 =t 65,000 86,000 A 21,000
338 HAE 29 X& 65,000 86,000 A 21,000
201 Let249] 21,000 38,000 A 17,000
01 At 224l 21,000 38,000 A 17,000
O338 tlaE Edlas S HE 7 15,000
O33E HAZE A& 29 2l 6,000
307 21201 A 42,000 48,000 A 6,000
05 BIZHRIE 3 42,000 48,000 A 6,000
OBZE AT 29 =3
3,500,000 = 12& 42,000
405 TtHakF S| 2,000 0 2,000
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< 87,811
Al 204,889
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J| 166,592
< 49,978
Al 116,614
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J| 15,912
< 4,774
Al 11,139
- 2S00 G2 XA 24,500
J| 12,250
< 3,675
Al 8,575
-—Z22012X SBHA MHA & 60,100
J| 30,050
< 9,015
Al 21,035
-COEsE g X 105,720
J| 52,860
< 15,858
Al 37,002
01220 JISEIXE A Y 30,070
J| 15,035
< 4,511
Al 10,524
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< 46,331
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301 LeBAF 26,500 43,400 A 16,900
= 7,950
Al 18,550
12 JIEBHE4 = 26,500 43,400 A 16,900
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307 QI2t0| ™ 121,570 174,930 A 53,360
= 38,381
Al 83,189
10 A SXNANEEHESIHEX 41,600 36,400 5,200
2 AIDIEHEH SALA =& 41,600
= 12,480
Al 29,120
11T A EXAIEEX 79,970 138,530 A 58,560
OUSSINEXNE EXAIAY 16,670
o= 5,000
Al 11,670
OWEZ=0/2X LHAIIIZSHAEH CEHMS 9,550
= 2,776
Al 6,774
OZE&0|2AH ER0tD| ¥=FAHA X 43,750
& 13,125
Al 30,625
OO0l s )2 10,000
&< 5,000
Al 5,000
CI2s =X AP (ML) 253,820 163,520 90,300
201 et d| 6,720 6,720 0
01 AP 2t 2| H| 3,120 3,120 0
OUSSIENE 222 5 MH 2,000
OUSIETHAR}G EFA&H
70,0008 * 8YH~* 23] 1,120
02 2=2=24%4| 3,600 3,600 0
ONZCLRE Ao s Al 3,600
202 044l 1,500 1,200 300
01 2L I 1,500 1,200 300
OJIEXNH 82 =& 0oyl 300,000 = 5% 1,500
301 et A =2 21,000 11,000 10,000
01 AR E & A 462 20,000 10,000 10,000
O0l=t1& #2AY J=XAH HEH XN
500,000& = 109 5,000
OZE0|2A HHAet ASH(FIE A 15,000
09 #HAIAHI XIS 2 1,000 1,000 0
OUSSIEXNE A BA BA
20,0008 = 50H 1,000
307 QI2t0| ™ 224,600 144,600 80,000
02 QI2tAAMAIE E =X 25,000 15,000 10,000




2N

X{ XH -
S =

O

HIot=1

_,_

IIE=XNSsH

e U23IIEXNE (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OUESIHE, OlFtZEEAE S MIFESKA
AN 29 5,000,0008 * 3JHAIELS 15,000
OUR3IH=E UIIX=0Z2SH M (FolE
0l &) 10,000
10 MM SAANEEHESIGHEX 30,600 30,600 0
2QoHAIDISHEH SAXN ALHLEXE 30,600
11T A EXAIEEX 169,000 99,000 70,000
OXFE S 29 14,000
OMM=FIIE U2 IIIE U 10,000
OUEs ZEJH 299 5,000
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& 699,645
Al 699,645
301 et A =2 6,996,450 5,502,117 1,494,333
J| 5,597,160
& 699,645
Al 699,645
01 Al B & A 462 6,996,450 5,502,117 1,494,333
OstE2IE OIs%=sH & N 6,996,450
J| 5,597,160
o 699,645
Al 699,645
HAUsEE XA 84,900 70,800 14,100
J| 67,920
=} 5,094
Al 11,886
301 et M= 84,900 70,800 14,100
J| 67,920
& 5,094
Al 11,886
01 M EXEE 4562 84,900 70,800 14,100
OFA~dEsEa NE XS 84,900
J| 67,920
& 5,094
Al 11,886
MAas &t e X& 901,200 900,400 800
= 270,360
Al 630,840
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Al 8,400
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< 16,560
Al 38,640
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< 40,920
Al 95,480
301 LBEXS 136,400 124,400 12,000
< 40,920
Al 95,480
01 ALl EE E 563 136,400 124,400 12,000
Osd0IEE &4d - st tH|l K& 8,000
[ 2,400
Al 5,600
Oflele Ag=dd XA 2,400
< 720
Al 1,680
Oflgste2ls dEg2xd X3 126,000
< 37,800
Al 88,200
ANE JIsEZ KNJA(SHRE2INE=RIAIL) 34,924 49,500 AN 14,576
| 17,462
< 8,731
Al 8,731
402 RI2HXt20l 34,924 49,500 A 14,576
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< 8,731
Al 8,731
02 22t X2 AL E X (0l X THE) 34,924 49,500 AN 14,576
ORZ2IIEEXNANE JIs22H| 34,924
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< 8,731
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< 4,325
Al 4,325
307 glz2tol & 17,300 26,000 A8,700
J| 8,650
< 4,325
Al 4,325
11T M SXASE EX 17,300 26,000 A 8,700
OStRZINEERNANE LdaX & - 2K 17,300
J| 8,650
< 4,325
Al 4,325
StRIIIZEFIAE Otolss XN 75,230 66,000 9,230
J| 52,661
< 6,771
Al 15,798
307 21201 A 75,230 66,000 9,230
J| 52,661
< 6,771
Al 15,798
11T MISXASEX 75,230 66,000 9,230
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J| 52,661
< 6,771
Al 15,798
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< 9,000
Al 21,000
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OSR2IIF=FNAE EAT NHSEEHS
5,000,000& = B6AlICH 30,000
< 9,000
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SHR2IIEFXNAE 28 N 316,351 301,000 15,351
307 21201 A 316,351 301,000 15,351
10 M2 SXNANEHE2IHEX 316,351 301,000 15,351
OstREZIIE=SRNAILE 22l 2] 316,351
SFREENESAAE SAL =Y 10,400 10,400 0
< 3,120
Al 7,280
307 glz2tol & 10,400 10,400 0
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OFAERlEd NcHxs E22 M 3,100
= 1,000
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301 dEtE M= 23,520 15,600 7,920
= 4,680
Al 18,840
12 JIEtE A= 23,520 15,600 7,920
O88Hs FAEHXNEC/ASY E=H| 15,600
& 4,680
Al 10,920
OddlAl EAEEE SHERD2AAE 24|
11,0008 * 30Y * 243 7,920
HAUEYH 2NN (JISEX) 268,182 261,448 6,734
J| 120,361
=3 48,144
Al 99,677
307 ©12+OI & 268,182 261,448 6,734
Jl 120,361
=3 48,144
Al 99,677
10 M SXANEEHESIGHEX 268,182 261,448 6,734
Oe)] dAdaly 249 268,182
J| 120,361
=3 48,144
Al 99,677
Had 2NN 2SEXA(CHEE) 20,800 20,800 0
& 6,240
Al 14,560
307 giztol A 20,800 20,800 0
& 6,240
Al 14,560
11T AISIEXAIEEX 20,800 20,800 0
OFALEEXAIE SAA JAHBXLE
200,000& = 8% * 12J4& 19,200
& 5,760
Al 13,440
OFAESEAANE SAIANH GESE
100,000& * 8Y =« 23| 1,600
& 480
Al 1,120
HAHIZSNAAE SYNA(ZDSE) 71,740 70,000 1,740
= 35,870
& 14,348
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AR GRS =
3 34EFN
el 3448 AAdsd N (Sl & &)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

Al 21,522

307 21201 A 71,740 70,000 1,740
35,870
14,348
21,522

= N W

gHEX 71,740 70,000 1,740
& 29| 71,740
35,870

14,348
21,522

zZ W

02
o
i
0
%
o
o

ZAY XN (20EX) 2,834 2,834 0
1,417
1,417

H A

307 glztol & 2,834 2,834 0

1,417
1,417

Rl

SXAEEx 2,834 2,834 0
OFAERNSIZAE K& 2,834
1,417
1,417

oW

a2 186,980 170,376 16,604
93,490
46,745
46,745

= N H

308 XM S0H 186,980 170,376 16,604
93,490
46,745
46,745

= N W

N 3JN2Soe3 & 2AE A 186,980 170,376 16,604
OdEad AMES X 186,980
93,490

46,745
46,745

=z N W

0z
b
m
ro
[Pl
02
Ho
02

100,000 100,000 0

50,000
Al 50,000

H

101 14l 7,200 6,000 1,200

3,600
Al 3,600

H

RIAH) 22 E = 7,200 6,000 1,200
[Ead Atddl2el X &8l
300,000& » 2F =128 7,200

3,600
Al 3,600

=

O
B 40
40

o =

H

201 Let24E] 12,800 34,000 A21,200

6,400
Al 6,400

H
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SH: KIS
=R PNEES

Cel: Had HFSA XY GEERED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
01 AP 22| H| 12,800 20,000 ANT,200
OHTAIY EEH|, Cis &8 S 9,000
= 4,500
Al 4,500
O2AF XAINT s, +5, ASHSHH
29 =S 3,800
= 1,900
Al 1,900
301 dEtE M= 60,000 38,000 22,000
i 30,000
Al 30,000
01 Al B & X 262 60,000 38,000 22,000
O%USNHEIA HH XYl 1,000,000& = 50H 50,000
= 25,000
Al 25,000
ODINHAE AS XA
1,000,000 * 10¥ 10,000
- 5,000
Al 5,000
402 BI2H X201 M 20,000 0 20,000
= 10,000
Al 10,000
02 CIZEXIEAIS EX (0| XM THL) 20,000 0 20,000
ODAVNHLY SR SAMAL
4,000,000& = HhH 20,000
= 10,000
Al 10,000
AW 48 - DNBEE X 3,344,253 830,561 2,513,692
= 12,100
J| 138,454
& 2,045,505
Al 698, 194
TH 450,000
HAEAL S= ALY (HSAIY) 2,858,000 429,700 2,428,300
= 2,000,000
Al 408,000
TH 450,000
AEH L 20 0] 2,858,000 429,700 2,428,300
= 2,000,000
Al 408,000
TH 450,000
01 Al&H| 2,858,000 429,000 2,429,000
OLdMNB AU ZEXNHE HE 2,858,000
& 2,000,000
Al 408,000
TH 450,000
HAELMAL JIS2Y A (HEAY) 80,000 0 80,000
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n0

Kio

Hl w

AN4,740

H3r
Wikd
RIS

6,336

5,740
1,000

24,000

24,000

24,000

7,350

4,800

4,800

2,550

2,550

2,800

Off &t 24

275
6,336

6,336
1,000
1,000

1,000
24,000

9,600
7,200
7,200
24,000

rr

H

Al

9,600
7,200
7,200
24,000
24,000

rr

H

Al

fir

9,600
7,200
7,200
7,350
2,500

Al

i

H

1,875
2,975
4,800

Al

i

1,680
1,260
1,860
4,800
4,800

H

Al

1,680
1,260
1,860
2,550

rr

H

Al

820
615
115

fir

H

2,550
2,550

1

Al

820
615
115

fir

H

1

Al

2,800
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11,000&

405 TtabH S|
02 =M
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10,000& = 100&A
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1,400
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2N

P
=R B PNEEP|
& Fad ¢ nggs N (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 Le-2d| 2,800 2,800 0
J| 1,400
Al 1,400
03 A2 Z Hl 2,800 2,800 0
OZoHAl BAUEHARAS 29 2,800
J| 1,400
Al 1,400
HAHRYRAAS 2F(232F) 2,000 2,000 0
J| 1,000
Al 1,000
201 L2l 2,000 2,000 0
J| 1,000
Al 1,000
03 &AL2 I 2,000 2,000 0
OFAHUESAY FAEU2IEARS 29 2,000
J| 1,000
Al 1,000
HAURIGRARS 2I (2 XNH) 2,000 2,000 0
J| 1,000
Al 1,000
307 21201 A 2,000 2,000 0
J| 1,000
Al 1,000
11T ALS S XAEE = 2,000 2,000 0
OFadsE2 FAU2IGRAS NE 2,000
J| 1,000
Al 1,000
HAdASWNSOootd0l 2 (JI2EX) 256,428 237,868 18,560
J| 121,434
< 36,430
Al 98,564
307 glz2tol & 256,428 237,868 18,560
J| 121,434
S 36,430
Al 98,564
11T M 2XAIS EX 256,428 237,868 18,560
OFAE&ENU=0It0HI0 2E XS 256,428
J| 121,434
< 36,430
Al 98,564
HAEALNZOHItMI0l 2 G (XM ) 8,580 8,580 0
307 21201 A 8,580 8,580 0
11T M3 SRASEEX 8,580 8,580 0
OGNS0t 0l 2+AHl K&
500% * 2862 * 60 8,580
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AR GRS =
g FaE=sR

ool HAW 4

EN & nggs N (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HAETSAM XX (2 XJ)JISEX) 27,240 25,968 1,272
J| 13,620
Al 13,620
307 gl2tol & 27,240 25,968 1,272
J| 13,620
Al 13,620
11T AIS S RAEE = 27,240 25,968 1,272
OFLEARXR A BIXIXI& AL 27,240
J| 13,620
Al 13,620
FAEUNE=EREH 29 405,736 497,714 A 91,978
2 25,000
J| 137,511
< 41,655
Al 201,570
HAUMNGESTME 2 N3 (M) 65,602 89,454 A 23,852
101 @124 dl 15,109 27,491 A 12,382
04 JI2ZHHZ2XREE S 15,109 27,491 N 12,382
OS|OEAUMZ 2 A 24| 15,109
-JlE= 1,945 ,500& * 1H ~ 63 11,673
-4 2E= 200,000& = 1% = 6& 1,200
-EAN=0 2,236
201 ¢er24l 20,573 19,373 1,200
01 At 22/l 9,173 9,173 0
OdelZ A & 1388228 & #¢ 3,000
O=SAD Xtz 164,000& » 12&8 1,968
OBCHAIAE & X2¢elal 9|
165,000& » 12&8 1,980
ogd & 4= 150,000& * 43l 600
O&aEA Ex1=H| 25,0003 » 259 625
OAlE RXE=H 1,000
02 =224l 10,200 10,200 0
03322 ¥ A4 850,000& * 12& 10,200
03 A2 S HI 1,200 0 1,200
OHEAES2EIZAY T2 23 1,200
202 O4dl 16,040 16,040 0
01 = LH 4 1l 16,040 16,040 0
OXHZAEA FRFI 0| 16,040
301 LA F 8,880 16,640 AT,760
09 HALAHIX &S 960 800 160
OFAGUEE & HHYR SAX A B4
8,000& * 60Y 23] 960

_29_




AN GEIEY
R PEESY
S9 HAUAGEIMNE 29 EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
12JEEd= 7,920 15,840 AT,920
OFLHAESXHE SAHA AUl B4
11,0008 = 2H * 30& * 123 7,920
401 A& HI L 20 bl 5,000 6,500 A1,500
01 A& HI 5,000 6,500 A 1,500
OFAGAGEXHEH AIEEZ 5,000
FAENSENMEH 29 N (SHEX) 2,000 2,000 0
< 1,000
Al 1,000
201 LBt 2,000 2,000 0
< 1,000
Al 1,000
03 &Ar2 I 2,000 2,000 0
OHAUXNE BRUS 2,000
< 1,000
Al 1,000
Medds 29 XA 40,652 42,188 A 1,536
J| 7,390
Al 33,262
201 2et24d] 38,252 32,660 5,592
J| 7,390
Al 30,862
01 At 22l 16,884 18,420 A 1,536
Ogt+=&H| 300,000& = 12& 3,600
OAMFESHI 300,000 * 123 3,600
Oos2s M& 300& = 5,0000H 1,500
J| 750
Al 750
OXZAAE 29| 40,000& « 128 480
oozt & FTL2 2L 4l
8,000& * 4F * 6 123 2,304
O Xt & Xl 450,000& = 12& 5,400
02 =224l 960 960 0
OxgsFHl 80,000& = 12& 960
03 &Ar2 Gl 20,408 13,280 7,128
oZzd 24 20,408
J| 6,640
Al 13,768
301 LEMZ 2,400 9,528 AT,128
09 HALAHIX RS 2,400 2,400 0
OZ=z21d FAX 24
8,000& * 20 = 153 2,400
TNANSHALESNAHAPE(OIBLE) 19,870 20,470 A 600
J| 9,935
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AN &8Iz
=R R PEEES
e HAEALETMHE 29 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
Al 9,935
201 LBt Y| 16,630 16,630 0
J| 8,315
Al 8,315
01 AP 22| d| 11,910 11,910 0
OssNage s82 H& 250,000 = 12&€ 3,000
J| 1,500
Al 1,500
OEEXNIE AIR2=2EH| 250,000 ~ 12€ 3,000
J| 1,500
Al 1,500
OHAHGNY 2F o+ (2YARS, &
US|, 1388 AE XK 2,310
J| 1,155
Al 1,155
OO0zt & 5222 x 24| 3,600
J| 1,800
Al 1,800
03 HAI2 HH| 4,720 4,720 0
OEgNggy 21 29 4,720
J| 2,360
Al 2,360
301 et A= 3,240 3,840 A 600
J| 1,620
Al 1,620
09 SHAIAHI X & 2 3,240 3,840 A 600
Oz )y & HHC A B4 3,240
J| 1,620
Al 1,620
HAUSHNTRIY 29012 LEE) 167,656 233,646 65,990
J| 81,308
= 40,655
Al 45,693
101 21 214| 161,814 217,718 A bB5,904
J| 78,387
& 39,194
Al 44 233
04 JIZtHIZ22NSEES 161,814 217,718 A 55,904
OFAESEHX AIZ2EH 124 H]
832,320€ * 14¥ x 12&€ 139,830
J| 69,915
o= 34,958
Al 34,957
OFAESEIL} DEY 2 SUHE X2
3,0008 « 14¥ » 12&€ 13,944
J| 6,972
o= 3,486
Al 3,486
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AN GEIEY
R PEESY
S9 HAUAGEIMNE 29 EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| Al 450
g1 g HAdE XA (SAXE)ISEX) 15,456 15,456 0
J| 7,728
Al 7,728
301 LEHZ 15,456 15,456 0
J| 7,728
Al 7,728
09 HALAHIX RS 15,456 15,456 0
OstW % Had 24 A 15,456
J| 7,728
Al 7,728
HAHSHEIADISEX) 13,000 13,000 0
J| 9,100
Al 3,900
301 LEEAZ 13,000 13,000 0
J| 9,100
Al 3,900
01 M3IBZE 063 13,000 13,000 0
QUEXd 20 S(88) 13,000
Jl| 9,100
Al 3,900
DI AHE SEE T2 2H(JHIEX) 50,000 50,000 0
= 25,000
Al 25,000
101 @124l 3,600 3,000 600
= 1,800
Al 1,800
02 JIEt A2+ 3,600 3,000 600
ONRINTBaGA E=5¢E
300,000& = 121 = 12& 3,600
= 1,800
Al 1,800
201 Let24d] 11,400 18,200 A 6,800
= 5,700
Al 5,700
01 At 22/l 4,000 9,000 A5,000
OMY E2E3 HMH 4,000
= 2,000
Al 2,000
03 & Ar2 ZHl 7,400 9,200 1,800
OdRIIEAY B&EEgZzY 29 7,400
= 3,700
Al 3,700
301 LA F 35,000 28,800 6,200
= 17,500
Al 17,500
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2N
X ZH -
L= B

el

o
Icé'

= - 4 14
(B1H) - MEAY - ByS %Eﬁ HR=2
o= 33,500 26,300 7,200
N2 S 33,500
= 16,750
Al 16,750
1,500 2,500 A 1,000
Sty T BAI Ba 1,500
= 750
Al 750
sHA [(HAEDJt=E 1) 730,001 650,749 79,252
= 17,044
J| 184,747
= 16,811
Al 511,399
oleEEd 671,249 598, 181 73,068
= 17,044
J| 184,747
& 16,811
Al 452,647
3ol &) 90,487 254,815 A 164,328
90,487 254,815 N 164,328
SESEPS 90,487 254,815 164,328
HAER39 & ol 90,487
=0 2,706,000& = 128 » 244 64,944
— HAHFAH| 140,000& = 128 * 2H 3,360
-IIEx4 220,000& ~ 12& 2,640
- A2t 2244
27,000& = 16AI2F = 128 = 2& 10,368
— X2 A 80,000 * 7& = 2H 1,120
- HE S|
2,706,000 * 0.6 x 23| = 2Y¥ 6,495
= 130,000 = 12& 1,560
KEA BIXIXE (I 2EX) 30,790 30,952 N 162
J| 13,620
Al 17,170
30,790 30,952 N 162
J| 13,620
Al 17,170
30,790 30,952 AN 162
& HAEXEZAF 1 AH| 30,790
2,030,000 * 1 = 12& 24,360
J| 12,180
Al 12,180
400
J| 200
Al 200
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SN 8IS
= HE2GFU (WAL=
chel: ol 2y (S &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
- HE S| 400,000& = 23| 800
| 400
Al 400
-S4 140,000& * 12&8 1,680
| 840
Al 840
—A2tIZ2 229 15,5703 * 16AI2H » 123 2,990
— X2 A 80,000& » 7 560
OlARHH(FAHAMESXHH)JIZ2EX) 237,840 85,280 152,560
J| 83,565
Al 154,275
101 1A Hl 237,840 85,280 152,560
J| 83,565
Al 154,275
02 JIEt A2+ 237,840 85,280 152,560
OSEXNag Al 79,280
-=20 2,600,000& * 2% » 12& 62,400
J| 31,200
Al 31,200
- Z U AH 140,000& = 2H » 12& 3,360
| 1,680
Al 1,680
- HEFIHl
2,600,000& = 23| * 2H = 0.6 6,240
| 3,120
Al 3,120
— HOtE 4| 100,000& = 2% » 10 2,000
J| 1,000
Al 1,000
S ECEE RS
20,0003 = 2% = 10AI2t = 128 4,800
J| 3,600
Al 1,200
-E=E 40,000 * 1 = 128 480
| 240
Al 240
OMe&E A 22| 158,560
-=20 2,550,000& = 4% » 12& 122,400
| 42,725
Al 79,675
- Mz A 140,000& * 494 = 12& 6,720
- EFOHl
2,550,000& * 23| * 44 = 0.6 12,240
— HOtE 4| 100,000& * 4% = 10 4,000
S EEL
20,0003 = 4H = 10AI2t = 128 9,600
-JtEg 300,000& = 12& 3,600
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M 08I ED
M HM22HAH (WA= W)
chel: ol gyl CEEEED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
CleAAY(EAENMNS=SIMHE)(EHEX) 121,840 87,912 33,928
== 9,000
Al 112,840
101 Q124 H| 121,840 87,912 33,928
o= 9,000
Al 112,840
02 JIER &2 %= 121,840 87,912 33,928
AEE ol Y| 121,840
-0 2,800,000& = 2™  12& 67,200
= 9,000
Al 58,200
- HAHIAH| 140,000& * 2% = 128 3,360
-EES
2,800,000& * 23] » 2% * 0.6 6,720
—AJIE AH| 108,0008 = 2% * 10Y 2,160
S EEEEES
19,000& = 2% = 10Al2t = 12& 4,560
-JIE4Y 60,000 * 2 = 12& 1,440
-g&830 36,400
olaa=2dy| (st & HAHE XH) 117,727 107,046 10,681
J| 71,941
Al 45,786
101 21214| 110,527 107,046 3,481
J| 66,901
Al 43,626
03 222 (RIHS) 222+ 110,527 107,046 3,481
O=20i(a=) 2,141,000 = 3% » 12& 77,076
y] 43,484
Al 33,592
OFMZ A 140,000& = 3¥H = 128 5,040
J| 3,528
Al 1,512
O&R4E 145,000 = 3% * 12& 5,220
y] 3,654
Al 1,566
ogsE4¢ 65,000 * 3% x 12&€ 2,340
J| 1,638
Al 702
OuUEEAX B4 400
J| 280
Al 120
OIZB22H40HZ2 214,100® ~ 3% «* 23| 1,285
J| 900
Al 385
OY&Ex= 2,141,000& = 3¥ * 23] x 0.6 7,708
J| 5,396
Al 2,312
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SN 8IS
= HE2GFU (WAL=
el el 2| (29 a8)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Os8RX=ZEE 400,000 * 3% * 13 1,200
| 840
Al 360
Ons=¢ 80,000& » 12& 960
| 672
Al 288
OS2 &l 95,3403 * 3% » 10« 2,861
| 2,003
Al 858
OAZA22Y 178,780& = 3H » 123 6,437
Il 4,506
Al 1,931
04 A3RE=S 7,200 0 7,200
Il 5,040
Al 2,160
01 A3EE3 3,840 0 3,840
O=0A3I|22LZ 3,840
| 2,688
Al 1,152
02 2UAHZ2E S 3,360 0 3,360
OdZ, IQYEEIARES 3,360
| 2,352
Al 1,008
ol IH(FAHSEAZZ Y 29) 31,242 32,176 A934
J| 15,621
< 7,811
Al 7,810
101 1A bl 31,242 32,176 A934
J| 15,621
< 7,811
Al 7,810
02 JIEF & E == 31,242 32,176 A934
OFAESEA HLH el
1,945,500 » 1H 128 23,346
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